

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION OR IGNA

## **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

)~00
·
5 Twp. 18S S. R 38 3 € East  West
eet from N (circle one) Line of Section
eet from E / (W)(circle one) Line of Section
Vearest Outside Section Corner:
SE NW SW
manton - Mississippi
Kelly Bushing: 2985'
Back Total Depth: surface
and Cemented at 310' - W/ 275 sks Feet
ollar Used?
Feet
ment circulated from
ment circulated fromsx cmt.
•
Plan Reserve Pit)  ALT IT PLA WHA
### Peserve Pit)  ### 12-7-7  ### ppm   Fluid volume   8000   bbls
vaporation
auled offsite:
License No.:
Twp S. R East West Docket No.:
ssion, 130 S. Market - Room 2078, Wichita, e 82-3-130, 82-3-106 and 82-3-107 apply. and submitted with the form (see rule 82-3-e attached with this form. ALL CEMENTING apporarily abandoned wells.
KCC Office Use ONLY
of Confidentiality Received
d, Yes Date:
e Log Received
ist Report Received RECEIVED
AUG 2 9 2006
9i

MY COMMISSION EXPIRES

Digrator Name: Harti	man Oil Co.,Inc			Leas	se Name:	Hueftle	·	Well #: 1	
A STATE OF THE STA	S S. R. 33	East	✓ West		nty: Scott				
NSTRUCTIONS: Sho ested, time tool open emperature, fluid reco lectric Wireline Logs	and closed, flowing overy, and flow rate	g and shut-ii s if gas to s	n pressures, urface test, a	enetrated whether along with	d. Detail al shut-in pre	I cores. Report	static level, hyd	rostatic pressur	es, bottom hole
orill Stem Tests Taken		✓ Yes	No			og Formatio	on (Top), Depth	and Datum	Sample
(Attach Additional S	iheets)				Nam	e		Тор	Datum
amples Sent to Geol	ogical Survey	✓ Yes	_			bner Shale		3920'	-935
ores Taken .		∐ Yes			Lans	-		3970	-985
ectric Log Run (Submit Copy)		√ Yes	i ∐ No		B/K0	;	•	4336	-1351
st All E. Logs Run:					Paw	nee		4470	-1485
St All E. Logs Hull.					Ft. S	Scott .		4492	-1507
Radiation Gua	rd Log				Che	rokee Shale		4505	-1520
					Johr	ison Zone		4564	-1579
					Miss	sissippi		4616	-1631
		Donart		RECORE	٠		ion ata		•
Purpose of String	Size Hole Drilled	Size	Casing O.D.)	W	leight	Setting Depth	Type of Cement	# Sacks Used	Type and Percen
Surface	12-3/4'	8-5/8"	0.0.,	23#	5.711.	310'	common	200	w/ 2% Gel + 3% (
****				<u> </u>					
			ADDITIONAL	CEMEN	TING / SQL	JEEZE RECORD	)		<u></u>
Purpose:	Depth Top Bottom	Type o	f Cement	#Sac	ks Used		Type and	Percent Additives	S
Perforate Protect Casing Plug Back TD Plug Off Zone									
· · · · · · · · · · · · · · · · · · ·		<u> </u>			·				
Shots Per Foot			- Bridge Plu		oe		cture, Shot, Ceme	nt Squeeze Reco	
	Specify	rootage of Ea	ich Interval Pe	riorated	•	(Al	nount and Kind of I	. vialeriar Osed)	Depth
			<u></u>						
'				· · · · · · · · · · · · · · · · · · ·					
	•	· · · · · · · · · · · · · · · · · · ·				s		<del>i</del>	
TUBING RECORD	Size	Set At		Packe	r At	Liner Run			
N/A		20				i -	Yes 🗸 N	lo	
Date of First, Resumerd	Production, SWD or E	Enhr.	Producing Met	thod	Flowing	2 Pumpi	ng Gasi	_ift	er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf .	Wate		bls.	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF (	COMPLETION			L	Production Inter	val		<u> </u>
	Used on Lease	г	Open Hole	_ n.	erf. 🗍 (	Dually Comp.	Commingled		
VentedSold (If vented, Sub	Used on Lease	[	Other (Spec		ged AS PE				RECEIVE

AUG 2 9 2006 KCC WICHITA

## ALLIED CEMENTING CO., INC. 24576

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

RUSSELL, KANSAS 67665		DAKIERKS
DATE 6-1.06 SEC. TWP. RANGE 52		START JOB FINISH
Homostle	COLU	NTY STATE
OLD OR DEW (Circle one)  LOCATION S (0)		cott F5
OLD OR (EW) Circle one)		•
CONTRACTOR MURRIN DIL #21	OWNER SAME	<del></del>
TYPE OF JOB PTA	CIENTENIT	
HOLE SIZE > 7/8 T.D.	CEMENT AMOUNT ORDERED 2755	45 60140
CASING SIZE DEPTH	6% CR HY H Clo-S	
TUBING SIZE DEPTH DRILL PIPE 412 DEPTH 2300	6 10 200	<del>PAT THE RESERVE TO THE PATE TO THE TO THE PATE TO THE PATE TO THE PATE TO THE TO THE TO THE TOTAL THE PATE TO THE TO THE TO THE TOTAL THE TOTAL THE TOTAL THE TOT</del>
TOOL DEPTH 2 500	to resident sucrement agreement of the	40 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
PRES. MAX MINIMUM	COMMON165@_1	2013
MEAS, LINE SHOE JOINT	001.11.101.	610 67100
CEMENT LEFT IN CSG.	GEL 14 @ 1	16 65 233 10
PERFS.	CHLORIDE@	
DISPLACEMENT	ASC@_	
	. @	
EQUIPMENT	£10.500 69#@	2 1382
PUMPTRUCK CEMENTER + 622 4	@	
· · · · · · · · · · · · · · · · · · ·	<u> </u>	· 
# (O) HELPER Darrod	@	
	<u> </u>	
# 399 DRIVER LONN'S BULK TRUCK	@	
# DRIVER	@	40 - 60
# DRIVER	HANDLING 7-97 @ 1	554
	MILEAGE . O 9 x 5 k k mil	
REMARKS:		TOTAL 4976.48
7300' - GOSKS		•
1600' - 80 5K5	SERVICE	
340' - 50 5K5 KUZZ	C DEPTH OF JOB	2300
60' - 20 545 +	PUMP TRUCK CHARGE	955
RH. 15 sks Cleu	EXTRA FOOTAGE@	
MH - 105K5	MILEAGE 52 @ 6	312
Job complete @ 1:00pm	MANIFOLD@_	
,		
*	@	
CHARGE TO: HARTMAN O'LL CO.		
		TOTAL 1267
STREET		TOTAL TACE
CITYSTATEZIP		
CIT I STATE ZIF	PLUG & FLOAT EQU	IPMENT
		<del> </del>
To Allied Characters Co. Inc.		
To Allied Cementing Co., Inc.	. @	and approved the control of the cont
You are hereby requested to rent cementing equipment	@	RECEIVE
and furnish cementer and helper to assist owner or		
contractor to do work as is listed. The above work was		TOTAL AUG 2 9 2006
done to satisfaction and supervision of owner agent or	· · · · · · · · · · · · · · · · · · ·	
contractor. I have read & understand the "TERMS AND	TAX	KCC WICHI
CONDITIONS" listed on the reverse side.	100	NOC VAICHI
	TOTAL CHARGE	
$\mathcal{L}$	DISCOUNT	IE DAID IN 30 DAVE
\ / /	DISCOURT	II. IMID IN 20 DATS
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\		
SIGNATURE MALL LUCE		
)	PRINTED NA	ME 📠

Allied Cementing Co., Inc. P.O., Box 31

Russell, KS 67665

\*\*\*\*\*\*\*\*\*\*\*\*\*\* \* INVOICE \*

\* \*\*\*\*\*\*\*\*\*\*\*

Invoice Number: 103771

Invoice Date: 08/10/06

Sold Hartman Oil Co., Inc. Fo: 4550 W. Nine Mile Rd

Garden City, KS

67846

85027

Cust I.D....: Hart

Total ....:

P.O. Number..: Hueftle TR #1

P.O. Date...: 08/10/06

Due Date.: 09/09/06 Terms...: Net 30

tem I.D./Desc.	Qty. Used	Unit	Price	Net	TX
ommon	165.00	SKS	12.2000	2013.00	Т
ozmix	110.00	SKS	6.1000	671.00	$\mathbf{T}$
el '	14.00	SKS	16.6500	233.10	T
loSeal	69.00	LBS	2.0000	138.00	T
andling	292.00	SKS	1.9000	554.80	$\mathbf{T}$
ileage	52.00	MILE	26.2800	1366.56	T
292 sks @.09 per	sk per mi				
lug	1.00	JOB	955.0000	955.00	T
ileage pmp trk	52.00	MILE	6.0000	312.00	Т
		· .			
ll Prices Are Net	, Payable 30 Days Fo	ollowing Subt	otal:	6243.46	
	1/2% Charged Therea		:	393.33	
	take Discount of \$		ments:	0.00	
	· _	<del></del>			

RECEIVED AUG 2 9 2006 KCC WICHITA

s.T. Wilder

NLY if paid within 30 days from Invoice Date

## D CEMENTING CO., INC.

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT:

<u>OAKLEX</u>							

			150	
7-26-06 SEC 5 TWP 85 RANGE 32W	ALLED OUT	ON LOCATION 2:30 AM	JOB START COOM	
HUEFIEST WELL# / LOCATION Scott C	IHY 5E-	25-18E-N IN	COUNTY Scott	STATE
OLD OR (NEW) (Circle one)				
ONTRACTOR MUREIN DRIG REG 21	OWNER	SAME	_	
YPE OF JOB SURFACE				
HOLE SIZE 12/4" T.D. 3/0'	CEMENT	•		20 F
CASING SIZE 85/8 DEPTH 3/0'	AMOUNT ORI	ERED		
TUBING SIZE DEPTH	200 SK5	com 39cc.	29686	Figure 196
DRILL PIPE DEPTH	an a Marian a Maria a f	gygy Siatilat elle andiai	California Associate	, see the seek of
OOL DEPTH	The same of the sa			
PRES. MAX MINIMUM	COMMON	200 SKS	@ 12 30	24408
MEAS. LINE SHOE JOINT 42 2017	10 A	※ ないまた いっぱい (1995年)、 かっぱったか いっぱい	@ T.	in President
EMENT LEFT IN CSG. 4/2.20	GEL	100.20 700 22 100.20	@ 16 65	66 60
ERFS.	CHLORIDE		@ 116 60	321,20
ISPLACEMENT 17 BBL.	ASC		@	
			@	
EQUIPMENT			<u>@</u> —	
			<u>@</u> ——	
UMPTRUCK CEMENTER TERRY			@	
19/ HELPER WAYNE			@	
BULK TRUCK			@	
218 DRIVER LONNES			<u>@</u>	
BULK TRUCK		1,440	@	
DRIVER	HANDLING	211555	@ 190	400 90
		1 DER SKIN	15/5	877 76
REMARKS:	MILLENIOL _#4	7		411146
			TOTAL	7///
CEMENT IN CELLAR				
		SERVIC	E	- Material
	Tura emilija spomou et senija posta urbija.	and the sales of the sales of the sales	The state of the s	
			10	815 8
	PUMP TRUCK		<del></del>	X 13 TO
	EXTRA FOOTA		@	2/40
	MILEAGE	52 m	@ <u>5 3</u>	260 4
-11. v. Val	MANIFOLD	11 1	@	1. 80
THINK 184	HEAD RE	•	@	100 8
1/			@	
HARGE TO: HARTMAN OIL				حف
,			TOTAL	1175 %
TREET		•		_
ITYSTATEZIP				_
	P	LUG & FLOAT	EQUIPMEN'	T
	1-BAFF	12 PLATE		45 %
	2-CENT	RALIZERS	@ <u>55 </u> \$	110 00
	1-83/8 51	AFACE P/4	@	60 %
			@	
Allied Comenting Co. Inc.			@	
			$\boldsymbol{\omega}$	
ou are hereby requested to rent cementing equipment			@ @	RH
ou are hereby requested to rent cementing equipment d furnish cementer and helper to assist owner or			@	RE
ou are hereby requested to rent cementing equipment d furnish cementer and helper to assist owner or intractor to do work as is listed. The above work was	er mega		@	
ou are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or outractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or			@	RE
ou are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or			@	_215 AUG
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	TAX		@	
You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"			@	_215 AUG
To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	TOTAL CHARC		TOTAL	218 <b>AUG</b> KCO
ou are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or outractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or outractor. I have read & understand the "TERMS AND"			TOTAL	_215 AUG
ou are hereby requested to rent cementing equipment d furnish cementer and helper to assist owner or entractor to do work as is listed. The above work was one to satisfaction and supervision of owner agent or entractor. I have read & understand the "TERMS AND"	TOTAL CHARC		TOTAL	218 <b>AUG</b> KCO
u are hereby requested to rent cementing equipment I furnish cementer and helper to assist owner or htractor to do work as is listed. The above work was the to satisfaction and supervision of owner agent or htractor. I have read & understand the "TERMS AND"	TOTAL CHARC		TOTAL	218 <b>AUG</b> KCO

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

\* INVOICE \*

Invoice Number: 103567

Invoice Date: 07/26/06

Sold Hartman Oil Co., Inc. To: 4550 W. Nine Mile Rd

Garden City, KS

67846

85027

Cust I.D....: Hart

P.O. Number..: Huefle TR #1

P.O. Date...: 07/26/06

Due Date.: 08/25/06 Terms...: Net 30

tem I.D./Desc.	Qty. Used	Unit	Price	Net	ТX
ommon	200.00	SKS	12.2000	2440.00	Т
el	4.00	SKS	16.6500	66.60	T
hloride	7.00	SKS	46.6000	326.20	Т
andling	211.00	SKS	1.9000	400.90	E
ileage	52.00	MILE	16.8800	877.76	E
211 sks @.08 per	sk per mi				
urface	1.00	JOB	815.0000	815.00	E
ileage pmp trk	52.00	MILE	5.0000	260.00	E
ead Rental	1.00	PER	100.0000	100.00	E
affle Plate	1.00	EACH	45.0000	45.00	${f T}$
entralizers	2.00	EACH	55.0000	110.00	${f T}$
ırface Plug	1.00	EACH	60.0000	60.00	T
11 Drigog Are Not	Payable 20 Days F	ollowing Sub	trates 7.	FF01 4C	
	, Payable 30 Days For 1/2% Charged There		total:	5501.46 192.01	
	take Discount of \$		: ments:	0.00	
	n 30 days from Invo		al:	5693.47	
I you in baid within	ii 30 days IIOm Invo.	rce Date 10to	a <b></b> .	5653.47	

RECEIVED

AUG 2 9 2006

KCC WICHITA

NEW WELL

A.T. Meturo 7/28/06